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QUESTION 1

A table named DEPARTMENT contains the following data: 

What will happen? 

A. The statement will fail because a subquery cannot be used in an UPDATE statement. 

B. The statement will fail because the result set produced by the subquery will contain more than one row. 

C. The statement will succeed; the last record retrieved by the subquery will be used to provide a WORKDEPT value for
the update operation. 

D. The statement will succeed; the first record retrieved by the subquery will be used to provide a WORKDEPT value for
the update operation. 

Correct Answer: B 

 

QUESTION 2

Given the following DDL statement: CREATE TABLE sales (item CHAR(20)); If a DBA wishes to increase the size of the
ITEM column, which SQL statement needs to be used? 

A. ALTER TABLE sales ADD COLUMN item CHAR(40); 

B. ALTER TABLE sales ALTER COLUMN item CHAR(40); 

C. ALTER TABLE sales MODIFY COLUMN item CHAR(40); 

D. ALTER TABLE sales ALTER COLUMN item SET DATA TYPE CHAR(40); 

Correct Answer: D 

 

QUESTION 3
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Which action needs to be performed in order to complete the definition of an application-period temporal table? 

A. A transaction-start-id column must be defined for the table. 

B. A history table must be defined and associated with the base table. 

C. A BUSINESS_TIME period must be specified in a CREATE or ALTER of the table. 

D. A unique index must be created that prevents overlapping of the BUSINESS_TIME period of the table. 

Correct Answer: C 

 

QUESTION 4

What is the purpose of a role? 

A. To define exactly what a specific user can do within a particular database once they have been authenticated. 

B. To group a collection of privileges together so that they can be simultaneously granted to and revoked from multiple
users. 

C. To establish a credible relationship between DB2 and an external entity, such as a database administrator or a
middleware server. 

D. To group a collection of users together so that they can be simultaneously granted and revoked specific authorities
and privileges. 

Correct Answer: B 

 

QUESTION 5

Which event will NOT cause a trigger to be fired? 

A. Execution of an INSERT statement. 

B. Execution of LOAD REPLACE operation. 

C. Execution of an INSERT operation of a MERGE statement. 

D. Execution of an UPDATE operation of a MERGE statement. 

Correct Answer: B 
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